APPB

Fall 2005 Final

Answer the following using nouns, verbs, and –ly words showing your path to solution.

1. Determine the missing values on the portfolios below and the grade on the fall final so that Tally can get a B for the semester with the least amount of effort. Explain your rationalizations. Assume no late charges.


	
	1st Quarter
	2nd  Quarter
	

	Overarching Process
	3
	4
	

	7 Systemic Parts of APPB
	0
	 
	

	Your Ability to Test
	2
	3
	

	Growth
	4
	2
	

	Inquiry
	 
	1
	

	Web Page/Free Choice
	2
	 
	

	Journal
	3
	4
	

	
	
	
	


2. Determine the displacement for the motion described by the graph below, where the velocity in cm per min is shown as a function of time in minutes.
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3. Sketch the other two graphs and give the names of all three given the y-velocity vs. time graph shown.
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4. If you were moving at 777.77 tenth-meter per helek, how many light-seconds per century would you be going?

5. Add these vectors. 
105 m @ 245 degrees; 275 m @ 13.0 degrees; and 177 m @ 155 degrees.

6. Give the specs for this Cow. Identify the three functions d(t), v(t), and a(t).
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7. What is the Fermi number for the number of APPB books to circle the Earth at the equator? Why?
8. If a person runs half of a 777 meter race at 17.0 mph, and the other half at 9.99 mph, graphically show the average velocity, and the time it took for the race.
9. What planet would you be on if your "reaction distance" was 37 cm? How do you figure?

10. How many gee pounds in 2 Quarters on Venus?


11. Make the IP slimer do like this.
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12. Determine the kinetic energy for your rocket from the video clip.
13. Do a T-Test on these data for an object falling 7 meters on Earth in seconds.

	1.1901
	1.1923
	1.1986
	1.192
	1.191
	1.1905
	1.1974

	1.1971
	1.1909
	1.193
	1.1922
	1.1926
	1.1952
	1.1977

	1.1939
	1.1959
	1.1933
	1.1941
	1.1967
	1.1942
	1.1986

	1.1953
	1.1955
	1.1961
	1.1959
	1.1966
	1.1901
	1.1946

	1.1907
	1.1926
	1.1924
	1.1958
	1.1987
	1.1985
	1.1915

	1.1933
	1.1952
	1.1924
	1.1986
	1.1931
	1.1919
	1.1951

	1.193
	1.1936
	1.1902
	1.1919
	1.1989
	
	


14. Plot these data and determine the relationship. Compare this to Newton’s Second Law.

	Mass Supported by the Probe (g)
	Force Recorded (N)

	10.0
	-1.77

	15.0
	-2.66

	35.0
	-6.22

	45.0
	-8.00

	65.0
	-11.55

	80.0
	-14.22

	95.0
	-16.90
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